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QUESTION 1

Universal Containers (UC) has gone through the design phase of its large initiative involving multiple Salesforce clouds
and is about to go into the build phase. The CIO would prefer to create an internal Center of Excellence (CoE) to

implement the solution versus make a third-party organisation responsible for the entire build given that they have the
talent internally to support the initiative.

Which two recommendations should a Solution Architect make toward creating a CoC?
Choose 2 answers

A. All development decisions will be made by internal resources.

B. Documentation around the solution will not be a concern.

C. Knowledge of the solution will stay within the organization.

D. It will be much more cost effective to create a CoE.

Correct Answer: AB

QUESTION 2

Universal Export has implemented multiple Salesforce products and has made it clear that it wants to maximize its
investment and avoid buying any new products. For the company\\'s next release, its business requirements seem to be
a close

fit for a product that Salesforce has. out it wants to develop a custom extension that replicates the functionality of that
Salesforce module.

Which two actions should a Solution Architect take?

Choose 2 answers

A. Begin requirements gathering for integrations and data migration

B. Advise the customer to use the out-of-the-box approach to avoid unnecessary technical debt.

C. Consult with the IT department to review the extension requirements.

D. Evaluate the business benefit of the requested functionality to see if it justifies investment in the Salesforce product.

Correct Answer: BD

QUESTION 3

Universal Containers (UC) is about to embark on a digital transformation initiative to make all of its back-office systems
data visible to employees, customers. And partners via front- office capabilities like Salesforce. The CIO has asked the
team to identify their various systems, both back- and front-office, and correctly identify the proper use of those systems.
The team plans to utilise the Systems of Engagement framework to classify their systems based on how they will be
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utilized within the enterprise architecture.

Salesforce is being utilued as the master for all sales data-like Opportunities, Quotes, and Cart data--and an ERP is the
master for all invoice, order, and payment data. How should the Solution Architect segment opportunities and order data
in Salesforce*

A. SOR for Opportunities and System of Intelligence for Orders

B. System of record (SOP.) for Opportunities and System of Engagement for Orders

C. System of Engagement for Opportunities and SOR for Orders

D. SOR for Opportunities and SOR for Orders

Correct Answer: B

QUESTION 4

Widgets Wonderful, a manufacturing company, wants to provide a better customer experience and enable field service
resources to provide a quote to customers while still on site. The company has complex products that come with
warranties that include preventative maintenance work. Additionally, certain warranty repair work has specific SLAs
associated with it. There are 10 Field Service team members and 20 sales representatives, all of whom need to view
Salesforce Field Service objects and be able to create quotes for the customer.

Widgets Wonderful\\'s project owner has some questions regarding the number and types of licenses needed for the
users and would like to better understand how warranties will be addressed.

Which two combined options should a Solution Architect suggest?
Choose 2 answers

A. Salesforce Field Service and Service Cloud for Salesforce CPQ will need to be installed and customizations will need
to be made to handle Entitlements.

B. Purchase 30 CPQ licenses and 10 Salesforce Field Service licenses.
C. Purchase 30 CPQ licenses and 30 Salesforce Field Service licenses.

D. Salesforce Field Service, Salesforce CPQ, and Service Cloud for Salesforce CPQ need will need to be installed and
customizations will not be needed for Entitlements.

Correct Answer: BC

QUESTION 5

Universal Containers uses the Salesforce Platform to track customer payments and any late payments. This is
accomplished with an architecture that includes Marketing Cloud, Service Cloud, and an integration to the back-office
billing system via MuleSoft. Invoices and payments are mastered in the billing system and exposed to Salesforce via
MuleSoft. Notifications about customer payments are orchestrated out of Salesforce and emails are sent via Marketing
Cloud. The late payment invoice data is required for service representatives to be able to reference within Salesforce.

What should the Solution Architect recommend when determining the role of each system for a use case of sending
payment reminders?
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A. Integrate the billing system directly with Marketing Cloud via MuleSoft to trigger based on events from the billing
system.

B. Create cases within Salesforce from the billing system based on payment statues with MuleSoft event orchestration
and send payment notifications via Marketing Cloud.

C. Recommend a trigger from the billing system into Marketing Cloud, which sends customer formatted emails.

D. Load the payment and invoicing data within Salesforce from the billing system with MuleSoft, and drive payment
notifications via Marketing Cloud.

Correct Answer: A

QUESTION 6

Universal Containers (UC) acquired two companies. As part of its transformation and consolidation program, UC needs
to bring all of its disparate partner strategies together and see what can be combined across all of its indirect sales
channels. Each company currently has its own Salesforce environment utilizing Sales Cloud and Experience Cloud for
Partners. Each company also follows its own unique business processes for partners. However, UC has recently
developed a new vision and journey focused on a single indirect channel with a single Salesforce environment aligned
to its corporate strategy.

Given UC\\'s new journey for engaging its indirect channel, what are the next two steps the Solution Architect should
recommend?

Choose 2 answers
A. Completely unify all the channel strategies under the acquiring company\\'s brand and strategy.
B. Tell the stakeholders to focus on having a single Partner Community across all channels with a singular branding.

C. Create an adoption plan for the Direct Sales team to engage with the Indirect Sales team in a sell-with model within
the new Partner Communities.

D. Identify the need for multiple Partner Communities by Indirect Sales Channel with branding and content specific to
each channel.

Correct Answer: AB

QUESTION 7

Universal Containers (UC) recently completed its migration to Lightning Experience, with sales users automatically
moving to Lightning. This initiative was a massive undertaking by UC, as it had a tremendous amount of legacy
functionality migrated over to Lightning from Classic. The CIO would like to make sure that UC is able to track adoption
of the migrated functionality over from Classic to Lightning and what specifically was migrated.

Which two proposals should a Solution Architect recommend?

Choose 2 answers

A. Provide the CIO the ability to roll back all changes once they feel Lightning is not adequate for their needs.

B. Track Adoption Rates within the Lightning Usage, and monitor a change in metrics within existing reports and
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dashboards.

C. Provide the CIO a list of the User Stories around the new functionality and the Gap Analysis done between Classic
and Lightning.

D. Align with the CIO around the fact that while the functionality has been migrated, the data created between Classic
and Lightning will remain exactly the same.

Correct Answer: BC

QUESTION 8

Universal Containers (UC) currently utilizes Sales Cloud and Experience Cloud for its customers. For the next phase in
its digital transformation, UC would like to enable its vast dealer network with the kinds of tools its direct Sales teams
are currently using. UC is considering Partner Communities (PRM) on Experience Cloud. UC\\'s concern at the moment
is making sure that its dealer network only gets access to the opportunities they themselves bring to UC or that UC
submits to the dealer to close. This is a concern for the VP of direct sales who has issues with bringing PRM in at all.

What is the initial suggestion a Solution Architect should provide to make Partner Communities work for UC?

A. Create two account lookups on the opportunity, one for dealer and one for partner company, and create sharing rules
to share the records.

B. Create public groups of partner companies and users at dealers, and share the opportunities using sharing rules.

C. Utilize the external sharing model to differentiate the sharing models between Internal Sales users and External
Communities users.

D. Utilize the same sharing model within the Partner Community that customers are currently using within the Customer
Community.

Correct Answer: C

QUESTION 9

Universal Containers (UC) is in the process of identifying if Revenue Cloud will work for its business processes. UC has
already implemented Sales Cloud, which includes complex steps and checklists that are orchestrated based on
changes made to an Opportunity. Based on the current Sales Cloud implementation, UC has concerns about how
Revenue Cloud will interact with its current customizations on the Opportunity object and if it will be difficult to customize
the solution in the future.

Which design approach should a Solution Architect recommend to mitigate concerns about custom processes on any
single object?

A. Use an event-driven design to separate automations that could run asynchronously from the save cycle with a third-
party tool like Heroku.

B. Migrate automations from Process Builder to a single flow that is triggered by record updates, using only the "After
Save" context so that all operations can be organized in a single flow.

C. Leave the orchestration of the automation to Process Builder, but invoke autolaunched flows from Process Builder so
that the actual operations run in flows.
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D. Migrate automations from Process Builder to flows triggered by record updates, organizing operations in separate
flows for the "Before Save" and "After Save" contexts.

Correct Answer: B

QUESTION 10

Universal Containers serves customers globally across two businesses. Each business has its own org for managing its
sales and support operations. Each line of business also maintains its own reporting systems using both CRM Analytics
and Salesforce reports, but the CEO is asking for a unique dashboard that includes the global opportunity pipeline with
data from both orgs.

What should a Solution Architect propose?

A. Use CRM Analytics in the primary org and create a Salesforce External Connection. Then, create a dataflow to
combine data from both orgs.

B. Use one org as primary and create external objects for the accounts and opportunities of the other one. Then, use
standard reports.

C. Use one org as primary and an ETL tool to synchronize the accounts and opportunities of the other org. Then, use
standard reports.

D. Use CRM Analytics in the primary org and then, in the dashboards, use Salesforce Connect to query the data from
the other org.

Correct Answer: A

QUESTION 11

A software solutions company has created several SaaS applications that it sells to its customers. The company would
like an easier way to allow customers to renew their subscriptions each period. Today, the company has to run reports
across multiple disparate systems to find out which products each customer has purchased, their usage levels, and
when each customer needs to renew. Tracking and identifying when to contact customers is a very manual process and
involves sates people sending emails with invoices attached. Customers often mail paper checks to the company,
leading to disconnected invoicing and payment processing.

Which two products should a Solution Architect consider to resolve the subscription, invoicing, and payment issues the
company is currently experiencing?

Choose 2 answers

A. Salesforce Billing

B. Salesforce Order Management
C. B2B Commerce

D. Salesforce CPQ

Correct Answer: AB

Latest B2B-SOLUTION-ARCHITECT Dumps | B2B-SOLUTION-ARCHITECT Study Guide | B2B-SOLUTI®N-8
ARCHITECT Exam Questions


https://www.certbus.com/b2b-solution-architect.html
https://www.certbus.com/b2b-solution-architect.html
https://www.certbus.com/b2b-solution-architect.html
https://www.certbus.com/b2b-solution-architect.html

www.CertBus.com https://www.certbus.com/b2b-solution-architect.html
CE RT 2024 Latest certbus B2B-SOLUTION-ARCHITECT PDF and VCE dumps
Download

QUESTION 12

Universal Containers (UC) currently has Sales Cloud, Revenue Cloud, and Marketing Cloud Account Engagement
within its existing Salesforce environment and is utilizing a standard Lead to Cash solution across those clouds. UC is 2
years into its Salesforce implementation, and the CIO is getting concerned with the sheer amount of data affecting its
environment\\'s data limits.

IT is doing upkeep on older records that may no longer be relevant. They have decided to start looking at data archival
strategies and what to archive correctly. Given that this solution involves Leads from Marketing Cloud Account
Engagement, Opportunities from Sales Cloud, and Quotes from Revenue Cloud, they are concerned about archiving
related data on active sales pipelines. They also want to keep a historical snapshot of all of their Quotes, Opportunities,
and Leads for future pipeline performance purposes and are open to options.

Choose 2 answers

A. Propose Skinny Tables to the CIO before doing anything else.

B. Understand the organization\\'s regulatory requirements around right to retain or delete data.

C. Recommend AppExchange solutions that provide capabilities around data archiving to the CIO.

D. Segment the data in terms of data needed for daily operations, data that is used occasionally at demand, and data
that is used purely for historical purposes.

Correct Answer: BD

QUESTION 13

A Solution Architect is working with a complex enterprise architecture that supports multiple business processes. Many
previous transformation projects have struggled because of the interdependencies between the Salesforce production

environment and other systems, as well as a lack of documentation.

In which two ways can a Solution Architect gain a better understanding of the current state of the Salesforce production
environment?

Choose 2 answers

A. Speak to the business stakeholders to gather their suggestions for improvement.

B. Identify which system integrator did the previous implementation and ask them to document their work.
C. Examine the details of the current configuration to see how it is set up.

D. Work with the system administrator to identify who has the most knowledge of the current configuration.

Correct Answer: BC

QUESTION 14

After a Solution Architect presents the Salesforce User Attribute Chart, the project owner has some concerns and
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questions regarding the Role Hierarchy choices for the executive assistant who reports to all of the VPs. There are also
questions about the ideal license given to the CEO who provides executive oversight and reviews the Executive
Dashboard at the end of each accounting period. There are some restrictions on budget spend for overall licenses, and
the user base is forecasted to continue to grow.

Which two explanations should the Solution Architect use to address the concerns and gain final acceptance?

Choose 2 answers

A. The CEO should have a Platform Plus license given that the role is a consumer of information and should be at the
top of the Role Hierarchy.

B. The CEO should have a Sales Cloud license given that the role is a processor of information and should be at the top
of the Role Hierarchy.

C. The Role Hierarchy should mirror the organization chart. Therefore, sharing settings need to be put in place for the
executive assistant given the need to have access to the data of all of the VPs being supported.

D. Given that the executive assistant will need access to the data for all of the VPs being supported, the assistant
should be placed higher up in the Role Hierarchy than the VPs.

Correct Answer: AD

QUESTION 15

Universal Containers (UC) is about to implement Sales Cloud, Service Cloud, and Revenue Cloud within its newly
created Salesforce environment. But before UC begins, the CIO would like to understand the options for creating and
migrating changes within Salesforce. UC is about to use a sandbox for the initial build and will deploy customisation up
to the production environment. UC has decided to build packages of metadata to silo the functionality between the three
clouds it is implementing for.

What are two key considerations a Solution Architect should keep in mind when recommending packaging?

Choose 2 answers

A. Design the package as modular, loosely coupled units of metadata rather than large chunks of an org.

B. Only utilize one functional automation tool (Flow, Workflow Rules, Process Builder) per object.

C. Itis impossible to track source control with package development; either the org owns the source or a source control
does, but never both.

D. Clouds like Revenue Cloud have their own packages so it is easy to work with them because their automation is
limited.

Correct Answer:. AD
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